Algebra 1 Name kua»

Unit 8 Day 6: Quadratics Graphing Review

For #1-2 graph the following:
1

1 y=-3¢ yuhex (0,0) 2 y=2-7 vesdex (0)1)

For #3-5, write the equation of the graph shown. 2
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For #6-7 state the vertex, axis of symmetry, and whether the graph opens up or down.

6. y=—-4(x+8)*-3 7. y=x*+10x+15
: _ =12 _
verko (-2,3) e
no.s.: X=-¢ W= (-5)* +lo(-S) IS
=28 -50+|y =-I°
<O | 0wy
J \)4/4’"% (( -\9) wws’l\
2 9, Wha&'s the domam an§ran e of
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For #10-11, graph the following using at least five accurate points. Identify the vertex, axis of symmetry,
and y-intercept.

10.  y=x"—2X+7 1. y=x*+8x+10
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For #12-13, what transformation(s) take place on f(X) = x* to get g(x)?

12. g(X) =(X —5)2
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13. g(X)=—(X)Z+4
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For #14-15, the graph of f(x) is shown, graph g(x) on the same coordinate plane.
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For #16-17, graph the following:

16.  y=-2(x-1+8 A(\-3-5)
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Axis of Symmetry: = |

vertex._(1,¢) (MA;ﬁor MIN

direction of graph: _\C\g_

range: 94 Q

X —> —0, Yy —> =v°

End Behavior:
X0, Y>> _—w

Increasing interval\= o= , | I

Decreasing interval: I | . (D)
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17. y=(x+7) +3
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Axis of Symmetry: =1

Vertex: ‘- | 3)MAX o@

/N
direction of graph: L
. w22
range: %_;

X—>—m,y—> R

End Behavior: X >, y—> O

Increasing interval: Lﬂ,ﬁ)
Decreasing interval: _&\;‘D



